Ko
8"_» data 4 XI 18 XI 25 Xl 2 XIlI 9 Xl 16 XII 131 201 27 1 31 1011 1711 241
S godziny
grupa |l a [grupa |l a|grupal a |grupa |l a |grupa | a |grupa | a [grupa | a [grupa | a [grupa | a [grupa | a |grupa | a |grupa | a [grupa | a

12.45 |grupa 1 b|grupa 1 bjgrupa 1 bjgrupa 1 bjgrupa 1 b|grupa 1 b|grupa 1 b|grupa 1 b|grupa 1 b|grupa 1 b|grupa 1 b|grupa 1 blgrupa 1 b
o | -13.45 |grupa 2 a|grupa 2 ajgrupa 2 ajgrupa 2 afgrupa 2 ajgrupa 2 a|grupa 2 a|grupa 2 a|grupa 2 ajgrupa 2 a|grupa 2 a|grupa 2 ajgrupa 2 a
é grupa 2 bjgrupa 2 bjgrupa 2 b|grupa 2 bfgrupa 2 b|grupa 2 b|grupa 2 b|grupa 2 b{grupa 2 b|grupa 2 b|grupa 2 b|grupa 2 b|grupa 2 b
E
% rupa 3 algrupa 3 algrupa 3 ajgrupa 3 ajgrupa 3 ajgrupa 3 ajgrupa 3 ajgrupa 3 ajgrupa 3 a|grupa 3 a|grupa 3 ajgrupa 3 algrupa 3 a
= 11.30

-12.30
grupa 4 b{grupa 4 bjgrupa 4 b|grupa 4 b|grupa 4 b|grupa 4 b|grupa 4 b|grupa 4 b{grupa 4 b[grupa 4 b|grupa 4 b|grupa 4 b|grupa 4 b

o 8.30
% 1230 |9rupa la grupa 1 bfgrupa2 b grupa 2 a
= 12.45
S -16.45 grupa 3 a grupa4b
= | 830
@ 1230 |9rupa 1b grupa 1 ajgrupa 2 a grupa2b
q) = .
E _1126'421% grupa 3 a grupa4b

8.30
N 12.30 grupa 1 algrupa 2 afgrupa 1 b grupa2b
S 12.45

8.30 rupa 2 a rupa1lb rupala rupa 2 b
o 12.30 grup grup grup grup
= 12.45













